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603930 1: Ga(363930L BBIEM0m ©amsggds

MMM ©ogomaamMo Mo(3bg9d0 dMmal dobgogzom: v 8mgbadbmm
3;-2.5; -4; 1.5; -1. 0353900 Bosbzom
©9Mdby
—@ — PN : — PN ' 4 0dmgbgmmon  osb-
—-4 -3 -2 -1 0 1 2 3 4 808(9336(")600’)
dom(3bboob
-4; -2.5;-1;1.5; 3. 8653603

Gozbgol Imeuemo:

036306 3mEymo sMob dobdomoa Mazbzol dgbsdsadobo BgHEomowsb 0-dwg, Mowasb
dobdaemn 39Mobmegl 0dbgds Momymanma, dgbodsdobsw bgdabdngMa Mosbgal dmommao
M09 ymMB0mns. Ma3b30L ImEymo ygmggmmgob sgdomos 56 0-0b Gmmos.

m&o ImbBagmy odmMmms FoMs30b BoanEslb 2 dg@moom. Lo dgadmgds 0yzbgb dmb-
Bogmggda?

a0bg0bnemmo meMo dgdmbgage:

1. dgadmgds mM0390 9600
30dsMoyymgdom 05Ms.

2. dgndmgds 3o Im30MadoMy
dndsMorymgdom 0stgl.
9600 bogops dofx3bog, dgmeg

dom(3bbog.
B A
3 _.2 4 0 1 2 3 5035bbmg@gon:

v dmEymo  sMmsbmegl  sMob

M YMROM0
dobdomo bgM@nmowseb A(2) bomszgdwg ol 2. Jogmy
RooBgegds |2]=2 v 3m3oMmedomg  Mo3bzgdal
3s56doma B9 B omnwsb B(-2) bomszgdwmg oGab 2. 8m§?§)360 Gowos
Ronbgmgds. |-2|=2 |' |_ ;
lal=|-a| = a
v |0| =0

60330 2: m39Ms(30980 Myl 393339 Mo3b390Dy

5) [-10] - 4 3) |-125] : |-5|
10 - 4=40 125 : 5=25




©5035bLmgMgo:

> mamymazz0mo Mo3b3980 bs3mgdas pogdoo Ma3b396Dy

> 63 9x6Om 356 (36bog 90l Mozbzob dgbsdsdabo byMGamo
Mobgom 0gfmddyg dom 6s3mgdas

> 6oEbgob dmemmo  gmzgmogob  sMeeMymgomos o
330h39693L 356doemlb o3bgal dgbedsdabo byMEGomowsb
Lomoggdwyg.

> byymob 3m@yyemo byymos.

dmboddogdgmo 3Mogd@nge

1. GoEbgomo mg@mdol godmygbgdom @osanbgo Mmdgmas dg@o.
o) -4 -5 3) -8 -3 a) -4 2 ©) 7 -5

2. 0363000 gMdob g0dmyqbgdom ssanbgm Mmdgmoas bs jemgda.
8) -9 -2 3) +2 -3 a) -45 -15 ) -3 +3

3. oMo 90 BEOIME0m. a5dmoygbgo Mozbzomo mgddo.
o) -2; 5; -1; 7; -4; 1. 3) 1,5; 3; -2,5; -5; 3,5; -4.

4. a53mosbgomndgo:
o) |-18]:]-0.3| 3) |-25| - |-5] a) 5 [-2.5]

boabﬁxnamgbn %

5. dgoamgo Mosbggdo:

3 1 7 1 5 2
8) -2 -3 ©) 0.5 -1.5 %)z 2 "5 10 6) -5 -3
3 0 -5 915 -35 o) -8 -4 m) 32 22 o) -45 9.5
a)[-5] 5 g)|-24] [-4] o) -8 [-5] @) [-7] 9 3) 2.5 [-4.5]
6. Goibgomo mg@dol 39dzgmdoo:
s) 4390330090 2 gMhogymom a) 3dgediofgm 5 ghmgnmon

3) 4 dgod30Mgm 6 gMmgmmom ©) —3 a0bsMEgm 4 gfmgamom
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7. Mogbzomn mg@dalb 35d3gmdom  osanbgm  JsMmgdmmos oy ofs dgdwgan
M GMEmMogdo:

) a>b d)a<c g)d>c ©)d<a g)d<c 3) b>c

A C B D
— - : - =

8. a93mosbgomady

) 1-17-1-8]  g)|-181+ 28] g)|-24]:]-02] %) |-125] |-2|

3) | -1.2] : |-0.4] o) [-24.2]|-]-19.5] g)|-8.24| :4 o) |-2.5] |-0.2]

)

9. om3mashabgm dg30m8s: mab 12 bor-Bdg §g33gGod s nym -2°C,

Loadmb Bbo-bg q33gFoG s aygm -9°C, Ly gmagzobom gows3gdsadn  bodyzebds

aodmozbos MHm3  Lamsedmbogol §gd3gMmo@mMad dmads@s 7°C =-om, Mo dggdome
653y306L7

10. bGomoom dmgg3gmos badgomm gd3gMmoGnms htipammgm 3mmybdg 039930
dabgegom. HmIgem mggdn ogm q33gModmg dojbodsm@a? dabndsrrna?

™39 | 0sb. mgd. | dof. | 836 | Moo | 0gb | ogem. | oag. | Lgd®. | md®- | bmgd. | gy

b
°C -245 | -203 | -12.4 | -4 8.8 15 15.9 134 | 69 -4.1 -15.3 -24.2

11. Gormmo bsgombo: oy o) [X|=5, Gs dgodmgds ngmb X?
3) [x|=12, 6o dgadmgds ngmb X?

12. Gogmo bsgombo: dgndmads oy oMs [X[=-9 7 3sbybo osbodmmgon.
13. Gormo bogombo: o) @ ogdomn Mabgos s b MmeMymaomn, Jgesmgon:

o). a wob  3). b0 g) -a 0

14. g08gmMgds: a5bM0ggdomdol o sbmnszo@mdol Bgbob gsdmygbgdom,
0obgomndgom 3oM@0350:
5) 13.5:0.7 +6.5-0.7 a) 0.5-13.9-2- 100

3) 4955-05 +4.5:0.5 ©) 0.5-12.25- 0.4- 100



bodmomdo §g33gMoG s Lawsdm 6 bo-

bg ogm -1°C, Loeadmb 9 Lasmgabmgals j: T: j: : : :
Looggd dmads@s 4 °C -oom, bemeam w1 6| e O
033800 12 bosmobmzob 3owgs 0ds@s 6°C- 1: : 1: : i: ::
0. M5 0693 §9339Mo@Gs 0adalb 12 T ol w0 ol
Losomoborgolb? : : :
dmgobnbmm Lo@moznnb 2 : :

303735803160 ImEgmofgds:
“bo(303908 3mM085@)s” b0dbogl @ogdsde: -
4 o -6

A H(-4) + (-6)

Mmame 3933M00mm domgemo Mozbggda?
960b50660360560 Hosbggd0lL g3 9do

h39b6 3030 Gmame 03M0d5ds Mo EsEgdomo Moibze. godmzmor ™o
@Mofymyomo  Moibzob  xodo  Mogbomo  mgmdolb  asdmygbgdom, obggg  dmeyymoals
abdamgdoon.

6039930 1. moMymaomo Ma3bggdal dg369d0s:

-3+ (-2) =
< : MeMymgomo  Mozbgzgdol  dg36gdabob,
3360900 Go(sbgolb dmeEnmgdl ©s 6ob
—e T T L - + -
-5 -4 -3 -2 -1 0 1 3906960 ,-, 60dsbl.
-3+ (-2)=-5
OMYMBON0O Mozbgol 30358 90>
60dbogL, Bm3bzom mgMmdbg ImdEomdsl
do(3bbog.

6030 2: Lbgsabbgebndbnoba Ma(zbggdal dg36gds:

(-4) + 4 = Amam@ (3 30300 d0ds@gdals
- M39Md(300 60dbogl
Gobgom bbog by
Py . dmdmomdal dotrg3b03.
-5 -4 -3 -2 10 1

dm3oMpsdoty  Mozbzgdols

(-4)+4=0 %530 bymod




T L 2 T T T T T T T
-5 -5 -4 -3 -2 1 0 1 2
LbgoEsbbzsbnd60sbn Ma(3b3gdals g369d0bLsbL:
1. goamgdor Mo(3b3980b 3meymgdl, |7] >|-5]
2. 36960 Imeymomn ool 60ds6L s Mmoo ol 3o 3mgdom
dm@ymom 35GoMasb..
00a56 |7|>[-5] 3sbyybo 0gbgds  @ewgdama.
7] - |-5] =7-=2

bobobowsb RsblL, Hm3

-5+7=2 5+5+2=2 5+7=7-5=2
3)- 5+ (-3) =

5+ (-6) =

-
T T . T T ’
0 1 2 3 4 5

Moasb [8]>]-3| 3sbybo swgdomns
5+(-3)=5-3=2
Gowash |5]<|-6], 3sbybo gothymaezamons ©o0dsbbmgMgon:
5+(-6) = - (6-5) =-1
R396 gbgogom, Hma: at+(-b) = a-b

5+(-3)=2 ; 5+(-6)=-1

603d¢da 3. 53m(3560:

0mMMb0393 bLodsbzm sbgstnddy dgn@oebs 1200 moon, 3oMzgm 3306050
obofmgs 600 mofn, bmem dgmeg 3g06sl 800 momoa. smbgmgom bodysazns
5 3bgMgm 3abyba:

dgo@obs mabbe: + 1200

05660l godm@sbs 1. - 600 1200 +(-600) =600
05660l go8m@s6s 2. -800 600 +(-800) = -(800 -600)=-200

Mo 33060b 930098 mMMb039L MRS 35630L 3oemn 200 maMob mgbmdoo.




> dm3oMesdnmg Mo3b39d0b godo byymal Gmemons.
at(-a)=-ata=0

> Mopash  Mobzoo  mgmddy  domsbbog  dmdEomds  b0dbogl
a0dm3magdsl, dgogae gomgdm, MGm3  goMymzomo  Mosbzolb
05358905 603653L g0dm 3mgdals
a+(-b)=a-b

> 60 gemnbsombodbosbo Mo(3b3980b dg36980bab:

1. 336960 Gozbg9d0L dmeemb
2.60b 396960 Mozbgzgdab bogBmm 60dsbl (,+ o6 ,-“).

> 0 bbgeobbgebndbosbo Ma(zbggdol dg36gdabsb:
1. 36960 dmeymom owo Mozbzob 60dsbl (,+ ob ,-).
2. dmymomn o Moibszlb 353mgde ImEmmon  3o@ oMo

co3bsl.

3mLadbagdgmo 3Gagd@n o ]—

1. 03mggo gsdo:

5) -6H(-3)  g) -2+ (-8) 9) -3+ (-12) %) -12+(-20)
8) (-1)+1 ©) -3+(-2) 3)-2+(-10) o) -20+(-25)

2.  @ogbgomo mgMdals 8g893mdaom 03mggo Kodo:
5) -5 +(-8) a) -12+8 9) -9+7 ) 12+ (-8)
3) (-1)+1 ©) -3 +1 3) 8+(-12) o) 8+(-14)

3. anmManl obgomnddg 3gmbos 200 moMn, Msdwgbn woMARgds ©g3mbad by
(bgoM0ddg)onyy:
5) 353m0@oblb 150 mamb? 3) 30dm0@obl 300 cmoml ?
) 309m0@obL 400 oMb s 3gmeg gl 3gn@obl 150 momb?




béabﬁxnamaan %

4. 03mggo godo:
5)-12+(-2.5) () - 3.25+(-4.3) B)- 2+ (1) g)-2c +(24)

3)-14+(—8) ) -214+(-15) )24+ (13) @)-33 +(-25)

) 8) -5+ (4g)

a)-125+(-80)  g3) -250 + (-75) 0)-3.7 + (-1 -

alw

5. 03m39o Lbgoabbgebndbosbo Ma(3b39d0L Koda:

3 1 1
) -16+3.5 ©)-3.25+ 4.3 b) 4<+(-155) 3) 125 +(-20.4)
1 3 5
) -24 +35 9) 2.14+(-11.5) ®)-12.8 +6 7 m) 33 +(-23)
1 1 5
a) -225+90 3) 250 + (-275) 0)-23.3 + 237 d) 55 +(-47)
6. dgo@omgo:

o) -30.5+21 o -12 6) -3.4 +(-1.2) o -10.7 3) -5.3 + 4% ©o -2

3)-54+(-12) 2o 65 @)-35 +27 o - = 5) -14.4+24 @313

7. Bomdmomanbgo Mozbgo mMno gomymanmo Mozbgal godob boboom:

5) -20 2) -37 a) -120 ©) -2.5

8. ©9339Mms@ Mo wamab 8:00-dg ngm - 5°C, Inomab 3:00-borgolb §9339Ms@nEoed
dm0ds@s 9°C -0m, M sMab §93396Ms@ & 3:00-bg?

9. dmmm 4 bo-0b gobdsgmmdada 89339Ma@ s obgg dgd(30cs 4°C-0m, Modgbos
&933gE0@ s sbems oy 4bm-0b bab oym - 6°C 7

10. o0m@bogg @035dmdL  3m330@ g 0353L. gmggmo Gmob Bomds@gdom
obEMmadobsl ol 0mgdl ©sds@gdom 7 Jymob, bmemm ymgzgmo Gyl
boggdobal mm@Mbogg 3oMasgh & Jumosl. Medpgbo Jnms o43b cxm@bazgl, vy dsb
dmogm gMomo Geo s Basgm 2 gma?

1. 8500D003 05635030 nbadams 1000 mmodin, ;mgdgMgamado 0Doams ©s358gdom
200 motn, 3o6@0b ;mggdo gogoms dmggdadg s abamggdems 2000 mama.
5). 3 m30b ®o3bg, Fomobos Imggdodg gogows ¢y baMambg? b). 3 mzgab
3mba(393900L gom35mabbabgdoo Medw@gbo Mmoo 0DosMams 5b mogm?
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12.  30%bgL0 3060l dmemb gogows Imagdsdy. 3Mmmd(300L goyom3z0lb dgmgaswm
abomMaqdms 5000 momn, s3Gnmal dmmmbag as3000 dmggdodg s abofMaqgdmes
3500 moo, 350b0b dmemmb aoyn3zgdolb dgd306930L go3m nbamams 4000 moa.
s) dgoxodgo 3 mgal dmba(3939d0, 3 mz0l 3ob3s3mmdedn Koddo abafMaqgdms oy
0bMdms 0Dbgbds?

) M339b0 maMom abaMagdms sb nDoMams?

13. godmoasbgstmndgon:
domomgds : xoddn dgbogMgdos gosbszzmgdom xodo o6 0(33mmgds, xR Ig3Mndgm
5090000 Mo(363980 dgdwga YoMymagoma Mosbggdo.

5) -18+20 + (-14) +30 3) -4.8 + (-5.2) + 5.4 +(-3.5)

14. Gogmo bsgombo:

) 65 046935 -6 56 10-3g Jngmo Ga3bzgdol Koda?
3) M5 0746905 -10 b 8-30g dogmo Mosbggdol xodan?
a) 5 046905 -100 086 102-3g dogmo Gazbzgdol Keda?

©) M5 0dbgds =176 s 174- 3wy dogmo Mo33960b Koda?

15. godgmEgde: 64308 563560300056 353mnBobs mabbaly z— s sMhs 120 momo,
530960 mama 3mbs sbgomnddyg?

16. g8gmMgds: m0D0d 3oMzgmo 330600l dmemmb 56a5M0dnsb godma@ebs
»obbolb babggzemn, dgmGg 33060L dmemb %, 530l 3gMg ol obgomMnddy
oMhs 230 moma. Medgbo mamo 3Jmbos sbgsfMnddg mogosdnmagmam?

17. go8gm@gds: gfmn mb 3960 53BL 03bgdL 8 Bm-dn, IgmEig mb 3obo 53DL 53L9dL
12 bor-do:

5). 930l Mo Bobomb 553L9dL Mgy Mb3oba gMmo 16m-dn?

3). 038096 6c-30 553L53L 53BL MEngg Mb3sbo gFmow?

18. 03mgqo:
2
) 120-00L 0.8 3) 0.25-0b¢
3)7.2-0b > ©) 4.2- obs 0.1

19. @osbodmomgm, MoGmd oMb dgdgan Gmmmmds badsGmmonsbo:
-5+5=5+(-5)=0

9+5=5+(-9)=5 —9=-4



39430bmagds  brmgol @mbowsb Royzobos 4

306MPy ©d 3o@by30E> Jorgs Bobges S
dg&Mab bomMdao.

h396  gooom,  Gm3 domgdo@ogmco

Robabgmnls 353901960basb Bdmaogho
Lodygobs o9 dmddgegdsl dggbodsdgds
Mofygmyomo  Mobzo,  Moash  drgal

©mMboEsb Jzq300 dndsmmymgds omgmagds

Mofygme  (drgob  ©mbosb  bgzom
dodoMoyymgdols dm30Ms30My

dndsMoyymygds) , dngomgdo:

-4 +(_5 ) =
@ @
-10 -9 -8 -7 -5 -5 -4 -3 -2 -1 0

F396 go30m, ™3 oM (36966 Fbogl ImdMomds 60dbogb godm 3magdsl, g.0.
-5 +(-4)=-5-4=-9
Mo(3b30L BogmdsGmo Yofmymazamo Mosbgn, 60dbagl godmgs jmma sgdomo.

at+(-b)=a-b

508mzgohobmo 3obmbbmBogmgds

/oqﬁm;;oﬁoEmm 396mbdm3ngMgds, Mmame 8 3mgds Mosbglb mom- \
ymgnmo Mozbgo:

4-3=1 -3-3=-

4-2=2 -3-2=-5




73 =1 33 = 6
4-2 =2 32 =5
4-1 =3 3-1 =-4
4-0 =4 3-0 =-3
_I\ 35 3mmgdal 93306985 063930 35L4gbob BELL, 356MbbMBngFMgdals
33039 > a536dgmagdoom dngomgdom:
—f4-(-1) =5 AH1=5 -3-(-1) =-2  -3+1=-2
4-(2) =6 442=6  -3-(-2) =-1 -3+2=-1
4-(-3) =7 4+43=7  -3-(-3) =0 -3+3=0
obggbs: a-(-b)=a+b

603%30 1. 353m3zmygds

o) 3-5=
3+(-5)=-2 04) 35 3mmgdo bd3mgddyg 39809, 35Lbo YoMymaznmns
. ]
3 2 1 o 1 2 3
d)-2-4=-6
- @
. O - @
-7 -6 -5 —4 -3 -2 -1 0
a) 1-(-3)=
1+3=4 R396 goz0m, a-(-b) = a+b
©) -8-(-5)+12-14=
-8+5 +12 +(-14) = 5336 BUBSOdQOO RO aggdﬁmbmm ©50g0000 Mo3bzgdo
-22 +17 =-5 (3539 QOMYMBomo Mosbggdo

603930 2: g56@mmgdgda.

a) x+ 14 =-3
X +14-14=-3-14 F396 dgaz0dmos aob@Bmmgdal mGngg
x+0 =-17 dbomglb godmgsgmmon 14.

x=-17




“ 603930 3: 03mzggom bbgomds

03m390 bbgomds @mobs @ Lawsedmb &qd3gMmoGnmgdl dmmab, vy omom

oym 12°C, Lomasdmb 3o:

5) 6°C 3)-5°C
303m3mm bbgomds: 303m3mm Lbgomds:
0)12-6=6°C 3).12-(-5)=12+5=17°C

5) 30639 d98mb3g935380 g33gMe@mes dgdznfs 6°C- no.
3). 3gmeg dgdmbgggeda §533gMs@ s 3gdzots 17 °C -aon.

‘ doMomaswo Bgbgdo:

> Gob3ob aodmymagds 60dboglb dngmds@mo 88 Mosbzal dm3nMmsdng

Mo(3bgo:
a-b=a+(-b)
a-(-b)=a+b

dmbadbaggdgmo 3Gag@oge —

1. a98mosbgo®ndgom:

5) -5 -4 8) -8-(-4) 9) -2.5-8 ) -12.5 -2
3) -120 -80 ©) - 125-(-80) 5)35-(-13) )42 - (73)

2. a53m0sbgomndgom:
5) 4-(-3)-10 a)-12.5-(-25.4)-1.5 9) 300 - (-120) - 40

3) -12 +4 - (-2) ©) -120 - (-200) + 450 3) 240 - (-240) - 800

3. 03mblbgboo gs6@mmmgdagdo:
o) X+12.5=-3 3) x-7.5=-14 a) x-4.5= -1

4. Dogbymob yggmodyg 3bgm omaglb ¢gd3dgmoGnms nym 42°C, bsdmn(z yzgmady
303 @b &gd3gMmedms ogm -14°C. 0dmgzggor §g33gMsGmGoms Lbgomds
Bogbnmoab (36gm mgbs s Dm0l (303 gl ImENb.



bogsMgodmgdo #

5. g5d0sbgsmndgon:

o) -15-24 8) -1.8 - (-4) 9)-5.5-12 ) -125 - (-150)

3) -220 + 60 ©) -12.5 - (-8.4) g) 45— (73) o4 - (23)

6. o0dmggom a-b o
s) a=140,b= -60 a)a=17,b =280 9)a=-35 b=45

3)a=-16, b=-9 ©)a=-25b=-9  g)a=32, b=-19

7. a53mosbgsmndgon:

5) -8-(-12)+20 a)-25 -(-4) +16  g) 16 +(-50) - (-12)
3) 120 -200-120 ©)-85-(-85)-90  3) 300 -500 - 250

8. 23mbbgbom gob@mmgdagdo:

5)—x=-125-25 ) x+45=47-52 a)x-7.4=9-124

9. 3dbmgmomdo gMm-gMmo (3030 dEa0mo0s Jobows, Losi &gddgMmoGnms
dgodmgds og3gb -40 °C -3wyg, gfo-ghomo (3bgemo sgomos mndosdo,
@000l 9sdbmdo doqbodsmna §933gMs M ognjbomrs 70 °C. Mo

60l §933gMo@Mgdals Lbgomds gwsednbol (sbgm s (503 sgamgdl
Jdmmols?

10. ©gsdnbals y3zgmadg Bomamn 8639M30m0s g396MgLG0, dabo Lodswmyg begal
MMbosb 88483-0s. 0gmsdnball yzgmodg sdso BgH@ oo 3o 333sM0 drgol
LobadnMmbgs, ob Drgob ©mMboEsb 418 dg@Gnm adms dgdsMgmdl, nd3mggm
bbgomds ©gEsdnbob yzgmodyg domam s yzgmsdy @edsm by Eomagdl dm@ab.

1. a08m00bgoM0dgm (M+n)—k o
o)m=124, n=-208 k=75 3 m=-310, n=-450, k=-500

12. pogodcoo:
53mahbgom 396mbdmagHgds s obgMmgo 303g3Mmdal dmdwg3bm 3 Bg36n:
o) 14; 8; 2; -4; -10..

3)-3; -7;-11;-15; ...




300g35@030L Mmnd3noedg ymagm LEME 3obybdyg Logzomblb gboggds 3 Jymes, bemem

ymgzgm ssbBmMaw go(393m 3obmbbg o3megds 2 Jmms. (3m@6gd @3obyybs 4 30mbgzab
LEmGo© s 4 3ombgzolb sGabbmMac.

Rogbgfmo dogem Gn(3b398d0:
LEME 3olyybgddg (3mBb7Y3 osaMmge: 363LBME 3aLybdy:
0)3+3+3+3=34=12 3)-2+(-2)+(-2)+(-2)=(-2)-4=-8

3035m9d0b badoMmab3omms “-“ bndsbo, MoEashb Jnms s3megds gbgmo -2-b.

350083089bmm Mo3b30L Lbogdg o gmo Mabzgdol godmsegmgds:
2+ (2)+(-2)(-2)- 8

o ® o O -@
" @ . @ . @ . O : . ,
-9 -8 -7 -6 -5 —4 -3 -2 — 0 1

dm(3939mo Mobzomo mgmdal dobgogom ©egemanbmo 3obmbbdmdngmgdgdo:

Jd303% ’
)
b 3gbs: /

~

1.-2-4=-8 . —-8:4=-2 IV. —8:(-2)=4
L() ()=(+) 2.3=-6 _6:3=-2 -6:(-2)=3
I.()-(+)=() 2.9=_ —4:2=-2 -4:(-2)=2
3ogmgobsb 9.4=-9 _2:1=-2 ~-2:(-2)=1
()2 (+) = () 5.0= 0

IV.(-): (+) =(-) \ /

33m930L dggase omdmgsfnbgo  3obmbbmdng@gds o dogomgm, HmI YHMogHn
dm30Mms30Mg mMo Mosbgal bsdMsegmon s gobsgman ymazgmogol goMymaoma Mazbgos.




M0 gOnbso®mbodbosbo Ma3b3930L BadMagmo s asbosgmyn 30 ymggmmgal ogdomn
Mo(3bg00.

o) m& Mozbgb oggb 3oLgbo

96 mbsnfn 60dsbo — 05098000

dm3oMEadnmg 60dsbo s MOMYMBON0S

603930 1: gobBmmgo aodcogmgds

o) 3-(-7)= 3)3-7 = a)-18:3= ©)-18:(-3)=

dm3oMeadntyg 9fmbsnto dm3oMeadnty 96nbsnfo
6036930 60364530 60dbgdo 6036930

3(-7)=-21 3.7 =21 18:3=-6 181 (-3) =6

603430 2: s8m(3560

M0330005dg ymzggm LEMMo© as(39399em 3ombzodg dmbBagmgl gds@qds 4

Jmms, ymggm s@obBm® 3obmbbg dmbbogmgl s 3megds 3 Jume.
30605335 bLbmGow ©3sbmbs 10 30mbgol o 5MLbbmMsw 4 30mbgol, Medwagbo

Jmms osgMmmgs?

dg300806mm 5dmbLbol g9ads:

10 bbmEo 3sbnbobmzgal osgMmzggdoe: 10-4=40

4 5@5bbmmMa 3obmbobmgol esaMmggdws: 4 - (-3) =-12
%53do 10-4 +4-(-3) =40+ (-12) =28

60330 3: 5dmzgblLbosm gob@mmade:




o0dabbmgmgon:

-a=-1-a -1-(-a)=a

8"’["38%‘5@360@0 aﬁbd@ﬂdb %

1.

dgobEmmgo god3Magmades:

0)-5-4 a)-8 - (-4) 9)-2.5-3 %) -0.5 - (-0.3)
3) 12 - (-20) ©)-3.7-(-0.2) g3) -4-25 »)-3.5-4
dgobenmgom gogmeys.

5)-18:2  a)-24:(-2) 9)75:(-03) %)-255:5
) 0.9:(-3) ©)-1.24:(-4) 5)-100:5  0)-72:(-9)

3. mm0d30sDg ymggm LEME 3obybdg 0bgMgds 3 Jyms, ymazgm sMLBME 3sLybdy
dmbbogmagl o3megds & Jymos. mobsd LEmGo© ¢3sbabs 12 30mbzob o
6bbmMa@ 10 30mbgsl. Mo8gbo Jnmes ssgmazs mobsd?

4. 53mblbgboo gob@mmgds:
o)x:(-2)=8 a)x:(-2.4)=-48
3)x - (-5)=35 ©) X (-7)=-0.49

5. godmonsbgomndgon:

5)-25 - 12 9)8 - (-14) 0)-25-13 6)-1>-(-17)
3) 22 - (-30) 3)3.8 - (-0.5) 3) 4-(-12) m)3: - (-22)
a)-1.8:3 D) 2.4:(-0.1) @) -97.5:(-03) 317 :(-13)

©)-0.9:(-0.3) )-5.4:(-0.06) 3)-400: (-4) 9)-57 1 (-12)

6. a53mosbgomndgom:
0)-8-4-12 ©)-12 - 3+3 - (-5)

3) 150 : (-5) + 20 + (-2) 9)-2.5-(8-12)
-5 -(-1.2) 5-(-2.3)-(-0.2)

8) T4 3" 454




7. 83mbbgboo gob@mmgdgdo:
5)-2-x=1.8 a) X: (-0.5)=-100 9) -6x=-1.26
3)-5-x=-3.5 ) x:(-0.1)=0.9 3) -9x=31.5

8. wosmoggom bl Jabgogoo:
o) -24;8;6;-12;15 a) 2,4;-1,5;-0,5;2;0
3) -150; 80 ; -220; 180 ; 50 ©)-12;-90;-4;-8;-45

9. 03mggo 3-a-4-b, oy

s)a=-2; b= = 3)a=21; p=-323
9 16 3 8

10. 565L@GoL0d3 356330 93bsb3gm 56a560dbg dgn@ebs 1500 mamoa, 3nfggm g0l
396 obam s 0sbbal 0.2 boboemn, 3gmmg 330650 800 mon, Modgbo oo a@hs
obgomnddyg?

11.  om@bn3gd 85b30bas6 obgbbs 1400 mon, ymggm mg goMegos msbbol 0.02
boboemb.
) 530096 moMb dgn@obws 18 wmgdan?
3) o ymzgmeeg 3508 96ws Labyobo msbbal 0.02 boboml, ®edwgb wemgdo
oxMazs babbL?

12, gmgbg go3008 3507358030L Mm0d3ns@sdy. 30Mggm Gueda aym 25 Lbszombo,
omoom LEm&o 3obyybo Bobrgdmws +2 Jamom, moom s@sbbm&a -3 Jymoo.
99693 LbmMaw gobge 15 3ombgol 3obnbo, sbsMAEL s@mobbmGew, Modwgbo

Joms @d0aHmzs grmgbgd?

13.  dgmom@Ogmo smMobgs: 39Mdm  3md3sb0sdo ©oboddgdmmds 5sd0563s

35056y308 smgfMozbs 33060L 3o6dsgmmdado ymggmmemoma dgdmbsogamo ©s
bofxn. dgdmbogomb (3bGomdn smbodbogws ,*+* badbom, batxlb 30 ,-“ bodboo.
dm(399mmn Imbs(393930b dobgmz0m dgo3Lgo (3G,
M 3d0850b g53mM034dags 50 Moo, obsfgs 16 moa. bLaddsdsmb godmndydags 60
oMo, obodgs 15, mobdsdsmlb ®o bymdsdoml godmadydsgs 80-80 momo
dbaMgs 25-25 mamo, 3o6dL3g3L godmadydsegs 100 momon, obomygs 10 oMo,
3535mb @obofgs 40 matoa, 33060b - 60 oo,

m@d. | Ledd. | mobd. bmod. 3o6. Jod. 33

dgdmbogso

botxo

14. Gorgmao Lsgoombo: 53mblgboom gob@memgde:
o) -2x+4.5=-9.5 9) -%+2.4=-1.6 a).-3(x-10)=3.9




1

15. Moo bsgombo: 03mggo godo: oY) el
1 1 1
a53mogsmgom dgdwmgan godo: ﬁ-kﬁ +E ster g

RaNBYA0 Ladmdom: goadgmmgom dobomes @

Robgmgm dgdmgbn Bomaowgdo smboemowal baboo:

1 5 7 17
)5 3) 16 ) 3 )1 55

9 48 96 72
)15 ©) 500 )2 555 )45

1. o6 Jomadb dmeMab dobdamo 250 33-0s. gom@god 30639 Mgl oxsms abab 3—1,

39mcg @b sMhgboema abob E, 3b5MAgbn dgbodg mal. M3wgbn 33 gonsms
d9bo3g PmgL?

2. ®o (3086980 bws Rogbgsm a, b -b bazgmow 13a7b ®m3 domgdymo Mazbazn
Mbodmme oymumeagb: ). 9-99?7  8). 30-997 3). 4-D3? ©). 15-Bg? Msdwgbo
Lbgoabbgs byzomo sGbgdmdl mommgnmoa dgdmbgzgzobomgal?

3. sdmaggo Mo(3b3960 BHoMboo:
5)-12; 8; 4;-7 ;-4 3) 243 3;-3 2 ; 45;-65;0

4. bogob Lobmmbdy & %96 3g@o0 omsdn o43b, Lobommb gMg3mabyg 4 K96 dg@o
3omado. M3 bxg® 3g@0 gomado oggb bogob gfgzmgdy?

5. dmmogmd mabbolb 0.3 bobomom ogows gomomda@mmals dygMocn, Medwgbo mofn
3Jmbs dmmogmb oy dy@mdn gopsobows 81 momn?

6. momb 3dmbrs bosbombrm 8mbobzgz9d0, mbobggzgdal g 3ob(35 o bab. o-

0653 md30b IbGNg IMLsb393900L g dob(30 bngob. bagMorm Momgbmdal Mo bo-
Boemo 43L bogob?

7. @0b08 Lomsdsdm 31d930b 0.4 bsBoemo 8obze gembn@L, H8wgbo boms8sdm 3mdo
3Jmbs gmbaMb o9y mabal omhs 247

8. ™b3ob0 sBL 03b9g3L 9 Ler-Jo, M8 960 Moo Bysmo 9@ 935 obTo vy 53L930b

5694960056 2 bosmab d53ga bl gbogbgdsw bagnmm aym 2.1 Bmbs bysema?



fo3bgo Gmdgemoag Ronbgmgds E Loboo, bows(z @ dogmos s b ba@nMaomyoa,

M3(30mbamumMo Mo3bg9d0 gbmogds.

dogmo  Mo3bggdo, Bomown Mabggdo, smbomowgdo,  BsGuMomamMa GMosbggdo
9gfme@ BaMdmamagbgb sbggg Mozombamum Ma3bggdl.

o(30mba Mo Mo3bggdos, dog: -5 ; LI -1.5; 4;0.(3) s o.9.

Bomowol Bodmoagbs smBomseol bsbom:

h396 3030m, 030bomgol M3 boemowo BaMmdmazaanbmm smbomawals babom
dM03b39m0 M0l mMo gde:
1 - 86093690 Bomdmgomanbmo 10-0b ggGomo 2- 3M0(3b39m0 3034mo
360d369mbg

3 3125 375 3 _ .Q—
)g—m—m—0375 3) 5—3.8 0.375
39MomeEumo smbomawo
1 7
o) s 1: 3=0. 33333... 3) i 0.15555...

F396 gbgoogm, O3 goymazs o6 LEMmEgds, g.0. boemo %—b 396 boMImzgoaqgbo
LobEemo  smbBomowal  bLobom, Bogomgo smbomowon, bLowsi 3 dgmEgds

ababOYMmmE.
sbgo smbomowlb 9bmegds  YLabAYmm 3gMomeumo smbomsown,  MasbaL,
Mm3gmo(z 3gmMmgds gbmegds 3gMommo.

5) 5 =1:3=0.33333.. = 0.(3) 9Bmagds 6306 3pMoman

3) 4—75 =0.155585... =0.1(5) 96mgds dgMgmma 3gGomeo
1500356 39M0m@sadEg o0l Mazbgo, Hmdgmos swo® JgmMogds




1

Bomdmzgomanbmo 3gMHommymo smbarawo Bamawal baboo:
8m(399eos 0. 55555 = 0.(5) = g

39M0omEnmo smbomawol  Bomaswsm BaMmdmoagbobomzol 8Mobgzgmadn 36g&mm

396M0omub, boenm 360936930 03mgb (36G0sbL  Medgbn Mmebfmngos oMal
396Momedo.
[ BgLob obadymgds ]
J \
/ 3mgg00m X o60b Bomowo Gm3gmbay 3gdgdo \
x=0. 55555... 353536M33mmm 3obGmmadol mengg Ibamg 10-Bg
10-x=5. 55555... 353m3zs3mmo IgmMg asbGmmgdal 3nMgzggmon

3oMx3960 AbAgL d3m©gds doMgzgbs, dom(3bgbols dom(3bgbs
10-x-x =5. (5) - 0.(5)

10-x—1-x=5

/

b0od¢do 1.

o). Bmame(3 3babgom:
0.55555... = 0.(5) =
3). Bam3mgaanbma gMgmmo 3gMomemmo smbomsowa Bomowal babom:

3o (393meos 0.1 55555 =0.1(5) = % - % _ 4_75

0.215555..= 0.21(5) = Tt = — =




60d«do 2.

F5(30mbom Mo Mobggdalb bomdmmagbs O omdal dobgozom
- é ; 22 ;245 -3.5; -3% bom3mzoanbmm mommgmmo Bomawo smbomsownl
-0.4; 2.8(3); 2.4; -3.5; -3.(5)  Loboo:

B396 303000, G |-3.(5)| > |-3.5] qbodsdoboc -3.(5) < 3.5

dngomgdon:

-3.(9) ;-3.5 -0.4;2.4; 2.8(3)

b0ddo 2.

2).2-15 +8-(—§) —0.4:(2-18) =
—6+(—4)—04:(02) =—6+(—4)—2= —12

Bomowoo Im(393mmo Bogsmomo dmddgwgdgdoom:

—5.5-2.4+(-2)
i Bomanb babo 60dbagl goymazsb.
3 76
a0dmg0sbasmndmo  3GM0(3b3gmo s
86033bgmo 3oer-30e239-
_ -55-(-4.8) _ -55+48 _ —07 _
- 1 - 1 - 1 -
6 6 6
=_l:l=_l-é =_E=_4l=_4-5
10 6 10 1 5 5

000356 % =0.1(6) > 396 BoM3mgoaqbor Mmamtg bab&amo sombomowo,
dM03b39mo hogbgcgo bomowals babom ©s dgzebmnmagm Bomsowgdol gogmezs.

ambba%OQaaaﬂ’ﬂ aﬁbdéﬂdé ?

1. Bom3momanbgo Boemowal baboo:

5). 0.7777... a). 0. 23333...
2). 0. 44dé... ©). 0.54444...

2. ©sdmeggom dO@oEMoom:
0).25; 55 - 10y -12; 22 3). 7L o7 42, 20,3

197 " 90




1

3. 353m0sbasfndgon:
3.5-2.4-(-2.5)
3 5
52 ()

3). 1000 =5 (—2.5-4 +3.2:4)

4. BsmImeanbgom Bomawals babom s godmasbgsmndgon:
5) 0.(3)+2. (5) a) 3.(5)-3.1(4)

3) 4.(7)-2.(8) ©) 8. 4-7.4(5)

5. a0dmosbgomndgm:
dae (00D o (DD

3) -4.5:(-3)-7.2:3 0)-35:(-15)+55:(-3)

a) 0.2'5-% -(-20)-21 3) -2.27:(-0.3)-4.5:(-0.5)
6. 53mbbgboom gob@mmadgdo:

5) -=-x=4 a) 2-x=-12 9)-15%=-6

3) x:3=-24 @) X:7=-9 5) X:(-12)=-2.1

7. 53mbbgboo gob@mmgdgda:

5) -2x+5.4-(-5)=7.2:(-9) a) X:(-2)+8.2:(-2)= -10
3) 2x-4.8:(-0.5)=-3:(-0.1) ) -5:(-0.25)-x= 200

8. 3m33s60s 3 mz0l a56353cmmdsT0 mggdn badaommdos 20 000 oMb, bmemm dgdwga,

3m3ma3bm 7 m3z0b go6dsgmmdada mggdo Latggdmmdes 9 000 memb, badmemmme
3mM335605 3maqgdadn oAy 01y DoMamadn s Modgbom?

9. mmabdo bbbomnb §933gMod@ss 24°C, blbomn dmamagbgl do(30350M3n, bosy ymggm
bamdo §gd3gMed s g393s 5°C-om. Modgbo Bool dgdga 0gbgds bLBsMAL
&9d3gModms -16°C?

10. 3gbmbarmm@a gabsbligdo:
Loboggbyyemm ©abogdgdal 3033560530 oLOJdB6 Jgon, ™abs s bobm.

V' J9008 g58m081353930 3306090 450 momb, 0dmdogs 3 33060 o 3 33060l

356353cmmdadn ymggmemg batgszws 15 mamb.
V' @obo a03madndoggdos 600 momb ymzqgem 3306, 0dmdogs 4 330600 o 4

330600l a56353mmmdadn ymggmomyg botgszws 25 mamb.



V' bobm 358m08135398s 33060do 550 momb, 08mdags 3 33060 ©d 3 33060bL

356353mmd0d0n ymzggmmemyg boMmgsgms 18 mamb.
Robgfgo godmbabyymgds s 3odmasbastadgom:

M3l 3980 oAy bLabogbyymm 30335600b obEMMgdolb 393mga s Medgbom?

1. 360@0gnmo godfo: o). o -5:(3x+1)=100; 2568 mmgdal s3mybLlbgmom n3mggm,
obo Gmeos (3x+1)?

3). oy -7-(4%-1)=-0.49: 2568 mmgdab sdmmblbgmsom ndmzgm, Mabo Gmeo 0dbgds (4x-1).

&9b&ob badxdo:
1) 12+(-20) = 2) -40-(-25) =

5)8 3)-8 a)32 )-32 5)15  3)-15 2)65 )-65
3) -14.:7= 4) -25(-4)=

52 3)-2 5) 100 3)-100

5) -2.5:(-5)-4= 6) -10(4-14):(-9)=

5)3.5 3) 24 a)-24 ©)-3.5 5)10 3)-10 2)-20 )-25
7). ovy -x-12.5=4 ; x=? 8). oy -4x+3.2=4; x=?
5)8.5 3)-85 3)12.5 )20.5 5)-0.8 )08 3)-02 ) 0.2
Norg 5 =115 x=7? 10) o -2x=8 ; x=7?

)55 6)-85 )22 )-2.2 5)20  3)-20 a)40 () -40
1) (-5)%4 12) (-8)%:(-4)

5). 100 3)-100 5). 16 3)-16
mos goobggdo:

13) 60653 5ba560d0sb ImbLbs 450 momo s 530l dgdga @oMAs 225 momn. Medwgbo
M0 3§mbs 60bsl 5bgsnddg?

14) 35003 563560300056 3mbLbs 560 Moo s 35630l gomo sMAs 280 momon, Modwgbo
M0 3dmbos o0l 56a5M0dbg?

18) 30%bgL0 4 m30L a56353mMdabo gonmEs Bagqgdsdy. mggdn batammdws 12500 moml,
dg3ga0 mGo mz0b as56ds3mmmdado as30000 dmagdedg s mzggdn LaMagdmmdes 20 000
ma@b. dmenm 6 ;mgol 3mba(3939d0b s6smabom, dobbgbo dmagdsdy aoz0008 o Baggdabg?

39




1

3ds@gdomo bagatgndmgdo:

1. 580M560b bmbs 128 3a-09, 3ol 8 m3gdn 54 3a-b o3mads bLiy@b. Mo8gb 3a-b Mbrs
03900ab Ladnsmme m39dn? RobgMgo godmbabeymgds.

2. o6 doemodb dmeol 356dnemn 350 33-0s. 56398 30Mz9m ML 3gemmbadgoom gonsms
3oL 0.2 baboemon, dgmeg gl emRgboma abals bobgzatan, sbasMhgbn gonstms 3gbedg
mgb. M33gbo 3omm3g@Mn(z gonsms ob 303 3gbadg pmgl?

3. 98mbbgboom gob@mmade:
0) 25-(x-12)=25 ) -12x+2=-2.4

4. 453mnsbgomndgon:

8 7.8-3.92-2.5
°) 304064 2.4:(-6)+0.4-0.5

5. Gomo bsgoobo:  358mosbgs@ndgm a2+ b?, 04):
s)a=8 o b=-4 d)a=-5 o b=-7
6. Moo bsgombo: godmosbgsmadgo:

1 1
3

1-L1 ) 1.1

3 T

A‘
o

6. 03mggon:

5). -14 056 12-3mg Gn(3b3980L % o30.
3). -23 ob 25-3mg Mo3b3980L Ko80.
7. 04 :

s) [X[=14 , 03mggon X.

3) [X|=9 o x<0, n3mzgo X.

8. a93m0nsbgomndgo:
4 9 1 1
5) [15-18| - [20-35] 3). s3] +]5-25]

9. 9fm0 mb 3060 53BL 03LgdL 6 Losmdn. gmeg — 9 Losmda. ) 53D0b M Bobol 53LgdL
mE039 Mb3obo gMo bLosmdn? 8) 53Bab Mo baBob vo3L7dL MMagg gMmsew 3 bosmdn?

10. ©9800gb Losmdn ogmaMmagl Gmab@o 20 30mm3g@EL, oy dobo bohdemg ndbgds 2.5
30/ben?



M39M5(30980 g 5 Ma(30mbam Mo(36393dg. godgmegds Ne 1

1). a0dmnsbgomadgo:
5)..—45+9 a). 37 + (-60) 9). =11 +40 ?). 95 + (-25)

3).56 + (-37) ©). ~79 + (—15) 3). (-63) +49 »). —49 + (-47)

2.0 a=-15b=-8,a c=6. 359m0nobgomndgom

3). dgommmagom asdmzmgdal m3g@s(30s:
5)..—16 - 15 a). —24 — (-12) 9)- 25 —41 ?). 19 - (-19)

2).48 — (—18) ©). —37 - 37 3). =50 — (~50) »). —39-13

4. a53m05b30Mndgo X — Y o4y
5). x=-24,y=24 d). x=-22,y=-32 3). x=18,y=25

5. 33mbbgbom g56@mmgdgda

5). 14+ b 3). ¢+ (-8) a). a+b ©). c+5+a

1. h-15=-17 2.a-29=-12 3.13=9-20
4. m+48 =31 5. n+26=-4 6. 0=z+50
7. 15y =-75 8. 0=-7d 9. -144 = -8v

266



a0dgmmgds Ne 2

1.9« (-8)

03mggo bsdGogmo:

5. 12+ (-10)

03m390 gobsgmaezo.
17. 63 = (-7)

21. 56 + (-7)

25. 33 = (-3)

29. -200 + 50

10.

14.

22.

26.

-50-3

10 « (-9)

15+ (-4)

. 48 = (-4)

54 -0

100 + (~20)

. -80 + (-4)

11.

15.

19.

23.

27.

31.

-36+9

80 + (-10)

75 = (=3)

48 + 12

12.

16.

20.

24.

28.

32.

12 + (-3)

-150 2

-81+(-9)

—60 + (-12)

77 0

267



a5dgmegds Ne 3

RobgFgm moommggmo  Bomowo smbomowals Labom (o gogmes o LEMmmgds,
05bgomndgom dgobggdsdoyg LodybEom):
1. S 2. E 3. 2—5 4. g
12 4 7 8
. . 15 o B
3 11 9 13
9. i 10. E 11. @ 12. 1—7
50 25 20
Robggor moommgmmo smbomswn bomowal baboom:
13. 0.25 14. 0.13 15. -0.65
16. 4.8 17. 1.875 18. 9.06
19. -1.008 20. 0.625 21. -2.05
dgo@amgo:
3 13 19
22, — 0.41 23. — 0.65 24, — 0.78
7 % 20 25
dgoamgo:  (bsboemn 2).
2.4 4> 2% — 19 2722 23
4 6 10 11 5 8
2122 128 9 3 O 0.2 20
7 11 4 9 100 1000
dgo@amgm, Rsbgmgm < ob >. (boboamo 2).
31. 1.031 1.3 32. -4.25 -4.5 33.2.(17) 217
34.1.52 -1.025 35. 22.31 22.311  36.-0.1983 -0.1899

268




a0dgmmgds Ne 4

3053Mogmao:

1.6+03 2. 3+0.05 3.07-4

4. (-8) 6.1 5. 7.4 «(-6) 6. (-1.4) «(-9_
7.-48+(-7) 8.-3+8.2 9.55+8
10. 1.5+6 11. 792 12. -5+6.9

a533Md3magom boboma (2)

13. (-6.3) * (-7.8) 14, 9.7 « (-4.7) 15. 6.8+ 0.9

16. 2.8 + 8.2 17. -7 + 6.42 18. 1.9 7.22
19. -5.3 + (-8.4) 20. (-7.16) *(- 0.03) 21. 1.56 « (~7.8)
22. 4.6+ 3.1 23. 0.62 + 1.45 24. -574+1.9

390bO g 3ogmRBs, R03MZmm 830bgrgdgdrg

1. 6+0.25 2. 78.74 + 12.7 3. 734.8 + -1.67
4. 56.525 + 0.85 5. 44.22 + (-6.7) 6. —6.46 + 0.04
7. 63 + (-4.5) 8.8+32 9. 87 +7.25

10. -36 + 1.6 11. 42+ 4.8 12. 90 + 0.36
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SuEhElgiiudy
BmOIYgdo

Bocdmeoanbgdo

o

e (a+b)=a?+2ab +b?
e (a-b)>=a? -2ab +b?
e a’-b?=(a—-b)(a+b)
e a%c?—b?d?= (ac — bd) (ac + bd)

o a‘—Db*=(a?-Db?) (a?+ b?)

LodMogmggdo

A 5 B bodmogmaggdns, boddmemmgdal 36ndgbgmmds

39900056985 A s B bod@sgmggdals
»obs339m0 A o B LodMmagmaggdol

A LodMagmob gmgdg6@gdal Mommgbmds
n(AuU B) = n(A) + n(B) - n(AN B)

“ ... bod@ogmyg 9390360b gemgdgb@o... ”
“...Lo8Magmy g3mgbolb gemgdgb@o... ”
(396090 bLodEogmg

A Lodmogmg B -b d3gbod@sgmgs ob Gmeos
A Lodmogmg B -b 43qbodcogmgs

AUB
ANB
n(A)

ACB
AcB
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